HE—IL(FHE-£1Y) ? (S aen) 580m
A=IL7Y—=(/v7La-IE-)) WLvE C[£E]
» J b
ﬁEiE;al L %] 3,900
3,900m I

SYAFYI RAILIEE]IRMNLOH)
(FL—r-$84-22hvH) 1,3008 _:_;eri! :

IeoNa—-Xd v By o

Z2[suUl) (k&b -v—4'8)--- 700m

943*- (75“'9‘“'*) Bl oo sE(EYFeo) o 520
NTR— : i y ixEEK

ﬁ/\’fl-r\ LEVAZM1R
:—snfﬁ— o

VT —N1R—IL 6408 | o |
=45HBHDANTHR—IL 690

Bt/ \1TR—IL RyE—DFHh
R\ TR —

AL RAx—(kEIh-OyY)

o s R () -2
BX) &8
= 4E)
=i 4m)

L=y JL=72)L—Y v Y [BE]

HAILER =9 7—Y— .

Eis BikEs AL

=15 =45 H&HHA

p Mipuuiifl NYRALYI-I—OVR-Y—F) LL -
BE/V7INA-ILTEET 430F§I E—F (ALyY-o—Ovk-v—9) | o7

d—5 #ALYIYTIa-—-2R 7J)LI:°Z m |l e g
SLhR  YVIr—I- HILERY -5  KEEK

Offit&IIE THEBAL L OTHVET (F1IT7 VM EEBALERRETY)



